designed to support

Q ONKRON N1iL

Tilt swivel ceiling TV mount for 32" - 80" screens

TV Deckenhalterung mit der Diagonale 32"- 80"

Support de plafond pour TV de 32 a 80 pouces

Supporto da soffitto per tv con diagonale 32 - 80 Pollici

Soporte de techo para TV con tamano de 32" a 80"

MoTonouHbIM KpoHWTerH ana TB ¢ gnaroHanbio 32"- 80"
OuaroHani 32"-80" 6onatbiH TB yLiH Tebere apHanfaH KpoHLUTENH

ol IR VY

32" - 80" 68.2 kg/150 lbs

T A
_—

717 -1586mm |

28.2"- 62.4" -5°to +15° \

VESA

L 100x100, 100x200, 200x100,

r 200x200, 200x300, 200x400,

z by 300100, 300x200, 300300,
60°

300x400, 400x200, 400x300,
400x400, 500x400, 600x200,
600x300, 600x400 mm

USER GUIDE
BENUTZERHANDBUCH
MODE D'EMPLOI
GUIDA UTENTE

GUIA DEL USUARIO
PYKOBO/ZCTBO MNOJIb30BATEJIA

NANOANAHYLLbI HYCKAY/IbIFbI




Assembly kit/KomnneKT c6opku

[&o ) o o 0
Tube (Tpy6a) T1 (x1)
[o oo G (! 0
Tube (Tpy6a) T2 (x1)
Protective pad [ d
3nacTuyHaA Bctaska (x4) PP © ©° o ©° ©° ©° ©° 9 o ©
Tube (Tpy6a) T3 (x1)
{(#%Ofo—zo\o OO 0 j}] [KULJL) L_Ju(_)um]
Horizontal adapter
ropusoHTanbHbIM agantep (x2) HA

Vertical adapter
BepTMKanbHbIM aganTep (x2) VA

—

P
= Ceiling panel
MoOTONOYHAA UK

VESA panel
VESA naHenb (x1)
VP

=" Omm» ©

0,
L
cap cap
10/M8x80 (x6) L M7x80(x6) M @7 (x6) N 3arnywkKa 3arnyuwkKa
12mm(x6)P1 13 mm (x6) P2
S )
® (o
M8 (x7) 18x8,2x1,5 (x10) M6x8 (x8) 18x8,2x1 (x2)  13x6x1,5 (x4)
A B (o D E1
(] (] o §p Q)]mmm
M5x15 (x4) M6x15 (x4) M8x15 (x4) M8x50
E F G (x4)
2 ‘ QF 6mm (x1)
M8x15 (x2) M8x60 (x3) M8x55 (x4) K
H | J
ﬁg:_) (]A 5/32" —~—
{//‘( O ‘\\T\T(_) W A 5 '
I o T @12 mm (1.2")

LNNANNN



PP

Three-tube installation of the mount.
C6opKa KpoHLWTelNHa U3 Tpex Tpyb.

N A+B+J

4]

Ceiling

MoTono4yHoe KpenneHune

—

Q1) ONKRON

Wall

L9

HacTteHHoe KpenneHune

s/




)) ONKRON

designed to sup

Two-tube installation of the mount.
C6bopKa KpoHWTEeNHa U3 ABYX TPy6.

T2
—\ T2
[~/
Ld/ [
Ceiling Wall B
MoTono4yHoe KpenneHue HacteHHoe KpenneHue

One-tube installation of the mount
(wall mounting).

CbopKa KpoHLWTeWHa U3 o gHOM
Tpybbl (yCTaHOBKa Ha CTEHY).




designed to support

Q ONKRON

Installation on wooden ceiling or wall.
YcTaHOBKa Ha iepeBAHHbIN NOTOTOK UNIN CTEHY.

9 Installation on concrete ceiling or wall.
YcTaHoBKa Ha 6@ TOHHbIV MOTOJIOK UK CTEHY.




0 VESA panelinstallation on the TV. YcTaHoBKka VESA naHenn Kk TB.
@ VESA 100 x 100, 100 x 200, 200 x 100, 200 x 200 mm

&&, E/F/G/M8x50

VESA 200x300, 200x400, 300x100, 300x200, 300x300, 300x400, 400x200,
400x300, 400x400, 500x400, 600x200, 600x300, 600x400 mm:

a) Connect VESA adapters using screws C. a) CoeguHute VESA agantepbl BuHTamu C.

b) Connect VESA panel with VESA adapters using screws C
b) CoeguHute VESA naHenb ¢ VESA agantepamu BuHTamm C.



Q)) ONKRON

@ Put protective pads PP into adapters of the mount, where they touch the TV.
YcTaHoBUTe 3nacTUYHbIE BCcTaBku PP B MecTax Hanbonee TecHoro npunieraHus
MeTaN/INYeCKNX HanpaBnAILLMX KPOHLUTEHa K 3aaHel naHenv TefieBM3opa.

PP

-

A\

Connect VESA adapters to your TV.
CoeguHute VESA apgantepsl ¢ TB.

M8x50




Qﬁj ONKRON

o Screw in the screw | for a few turns into the tube T3. Hang the TV with
VESA panel onto this screw.
BKpyTute Ha HeckonbKko obopoToB BMHT | B Tpyby T3. HaBecbTe TB ¢ VESA
naHesbio Ha YCTaHOBEHHBIV BUHT.

a) Set desirable tilt angle of the TV. Fix the panel with screw H.

b) Tighten screw | all the way to the stop. Make sure it is securely fixed.
a) OTperynupyiite HeobxoauMbI HaksoH TB. 3aduKcnpyite VESA naHens ¢
TB BuHTamu H.

b) 3akpyTute BUHT | go ynopa.




Q ONKRON

designed to support

Thank you for choosing ONKRON!

We want you to be completely satisfied with your new unit. Please, if you have any questions, issues or safety
concerns, please contact our sales team. We will respond promptly.

BECAUSE WE CARE

Please share your thoughts and feelings or ideas with us about our product. Help us to continue to deliver the best
quality designs. Please take a moment and leave us an online review. Thank you! Sincerely, ONKRON.

USA: info@onkron.us / +13159682278

England: info@onkron.co.uk / +442086387461

Europe: info@onkron.de / +494029996807

IMPORTANT

Verify from the checklist all components are included BEFORE installation. Contact our sales support team for
replacements if any parts are missing or appear defective.

Verify the monitor is compatible with the unit BEFORE attaching to the mounting bracket, according to VESA patterns,
maximum support weight and the diagonal measurement, as described in the ONKRON instruction guide. Installation
may require a professional.

/\ cauTioN

Please read the entire instructions and safety guidelines prior to assembly. Failure to do so may cause personal injury,
product damage, and additional property damage.

Always wear suitable personal protective equipment and use the correct tools to safety perform the installation.

DO NOT exceed the maximum weight rating of the unit, make non-factory approved modifications, use the unit outside
of its factory approved purpose, or OVERTIGHTEN any assembly screws used to join components.

Use only the factory provided mounting screws as indicated in the instructions.

Ensure the construction of attaching surfaces has the structural integrity to support the combined weight of the unit
and all additional hardware and components. Also, be aware of the working environment surrounding the unit which
could result in accidental damage such as (but not limited to), foot traffic, shelves containing objects that may fall, and
insufficient work space. The user must exercise due diligence.

Keep children away from the assembly hardware. The small pieces may result in choking if swallowed.

WARRANTY: Not under mandatory certification. Unlimited lifespan. 5-YEAR WARRANTY.

Danke, dass Sie uns gewéhlt haben!

Wir hoffen, dass Sie mit dem Kauf zufrieden sind. Wenn Sie unser Produkt mégen, lassen Sie bitte lhr Feedback.

Wenn Sie irgendwelche Fragen oder Probleme haben, dann kénnen Sie uns jederzeit kontaktieren und wir werden Ihnen
helfen:

USA: info@onkron.us / +13159682278

Europa: info@onkron.de / +494029996807

Lesen Sie diese Anleitung vollstandig durch, bevor Sie mit der Montage und Installation beginnen. Wenn Sie Fragen zu
Montage und Betrieb des Produkts haben, wenden Sie sich bitte an unseren Kundendienst.

ACHTUNG

Die Verwendung des Produkts mit Geraten, die das zuldssige Gewicht Uberschreiten, kann zu einem instabilen Betrieb des
Produkts, seinem vollstandigen Ausfall und zu Verletzungen gefiihrt werden.

Das Produkt muss gemaB dieser Anleitung zusammengebaut werden. Eine falsche Installation kann die Gesundheit
des Benutzers erheblich beeintrachtigen.

Es ist notwendig, persdnliche Schutzausriistung und die richtigen Werkzeuge zu verwenden.

Das Produkt muss von einem Fachmann montiert und installiert werden.

Stellen Sie sicher, dass die Arbeitsflache das Gesamtgewicht des verwendeten Produkts, des verwendeten Geréats
und aller optionalen Komponenten tragen kann.

Verwenden Sie die Schrauben aus dem mitgelieferten Kit und ZIEHEN Sie sie nicht wahrend der Montage und
Installation.

Das Produkt enthalt kleine Teile, die beim Verschlucken zu Erstickungsgefahr fiihren kénnen.

Bewahren Sie Sie auBerhalb der Reichweite von Kindern auf.

UnsachgemaBe Verwendung des Produkts kann zu Produktschéaden und Verletzungen gefiihrt werden.

Stellen Sie sicher, dass dieses Modell vom Produkt unterstiitzt wird, bevor Sie den Bildschirm installieren.
Uberpriifen Sie die VESA-Normen, das Gewicht des Bildschirms und seine Diagonale.

Die Installation eines nicht unterstiitzten Bildschirms kann zu Produktschaden und Verletzungen gefiihrt werden.
WICHTIG

Stellen Sie vor Beginn der Montage sicher, dass Sie alle fiir die Montage erforderlichen Teile erhalten haben. Uberpriifen Sie
die Stiickliste. Wenn Teile fehlen oder defekt sind, wenden Sie sich bitte an unseren Kundendienst.

GARANTIE

Braucht nicht Pflichtzertifizierung. Lebensdauer ist unbergrenzt. 5 JAHRE GARANTIE.



designed to su

§)) ONKRON

Merci de nous avoir choisis!

Nous espérons que vous &tes satisfait de votre achat. Si vous avez aimé notre produit, veuillez laisser vos commentaires.
Si vous avez des questions ou des difficultés, n'hésitez pas a nous contacter:

Etats-Unis: info@onkron.us / +13159682278

France: france@onkron.com / +330970467319

Lisez ce mode d'emploi en entier avant le montage et l'installation. Pour les moindres questions concernant le montage
et l'utilisation, contactez notre service clients.

ATTENTION

L'utilisation de ce produit avec les appareils dont le poids est supérieur au poids limite peut provoquer des problémes
d'utilisation, la casse ou le traumatisme de ['utilisateur.

Le produit doit étre assemblé suivant ce mode d'emploi. L'installation non correcte peut traumatiser 'utilisateur.

Il faut utiliser de bons outils et équipements de protection individuelle. Le produit doit étre assemblé et installé

par le professionnel.

Vérifiez si le plan de travail est capable de supporter le poids total de produit et tous les composants supplémentaires.
Utilisez le fixage du producteur et ne serrez pas trop les fixations pendant le montage et l'installation.

Le produit comprend de petites piéces puissant étre avalées et provoquer |'étouffement. Gardez hors de la portée des
enfants.

L'utilisation non correcte du produit peut mener a sa casse et au traumatisme.

Avant d'installer |'écran, vérifiez si ce model est compatible. Vérifiez le fixage VESA, les poids et diagonale de l'écran.
L'installation de |'écran non compatible peut mener a sa casse et au traumatisme.

IMPORTANT
Avant de commencer le montage, vérifiez si vous avez bien recu tous les composants. Vérifiez la liste. S'il y a quelques
composants qui manquent, contactez immédiatement notre service clients.

GARANTIE ) ,
Ne nécessite pas de certification obligatoire. La durée d'utilisation illimitée. La garantie de 5 ans.

Grazie per averci scelto!

Ci auguriamo che lei sara soddisfatto del suo acquisto. Se ti piace il nostro prodotto, lascia la tua recensione.

Se hai domande o problemi, puoi contattarci in qualsiasi momento e ti aiuteremo:

USA: info@onkron.us / +13159682278

Italia: italy@onkron.com / +390859960105

Leggere completamente queste istruzioni prima di iniziare il montaggio e l'installazione. In caso di domande
sull’assemblaggio e sul funzionamento del prodotto, contattare il nostro servizio di assistenza.

ATTENZIONE

L'utilizzo del prodotto con dispositivi che superano il peso consentito pud provocare un funzionamento instabile del
prodotto, danni completi al prodotto e lesioni all'utente.

Il prodotto deve essere assemblato secondo queste istruzioni. Un'installazione errata puod danneggiare seriamente
la salute dell'utente.

E essenziale |'uso dei dispositivi di protezione individuale e degli strumenti corretti. Il prodotto deve essere
assemblato e installato da un professionista.

Assicurarsi che la superficie di lavoro sia in grado di supportare il peso combinato del prodotto, del dispositivo
utilizzato e di eventuali componenti aggiuntivi.

Utilizzare i bulloni del kit in dotazione e NON SERRARE ECCESSIVAMENTE durante il montaggio e l'installazione.
Questo prodotto contiene piccole parti che possono causare soffocamento se ingerite. Tenerli fuori dalla portata dei
bambini.

Un uso improprio del prodotto puo provocare danni al prodotto e lesioni.

Prima di installare lo schermo, assicurarsi che il modello sia supportato dal prodotto.

Controllare il supporto VESA, il peso dello schermo e la diagonale dello schermo. L'installazione di uno schermo
non supportato puo provocare danni al prodotto e lesioni personali.

IMPORTANTE

PRIMA di iniziare il montaggio, assicurarsi di aver ricevuto tutte le parti necessarie per il montaggio. Controlla ['elenco.
In caso di parti mancanti o difettose, contattare il Servizio.

GARANZIA

Non richiede certificazione obbligatoria. La vita utile non & limitata. 5 ANNI DI GARANZIA.



designed to support

Q ONKRON

i Gracias por elegir el producto de ONKRON!

Esperamos que Usted esté feliz con su compra. Si esta contento con el producto adquirido le agradeceriamos por
compartir su opinion.

Si tiene algun solicitud o necesita ayuda no dude on contactarnos directamente y le asistimos lo antes posible:

Estados Unidos: info@onkron.us / +13159682278

Espafia: info@onkron.es / +494029996807

Lo primero consulte el manual completo antes de empezar el montaje. En caso de que tenga preguntas sobre alguna de
las instruciones o prevencidn por favor, comuniquese con nuestro atencion al cliente.

ATENCION

El uso de los productos con el peso superior de lo recomendado puede causar el vuelco, lesion personal o la falla del
producto.

El producto debe ser instalado segun las instruccidnes de este manual. La instalacion incorrecta resulta causar

el dafo grave a la salud del usario.

Es necesario usar el equipo de proteccion personal e herramienta adecuada. El montaje y instalacion del producto debe
ser efectuada por el profesional.

Asegurese que el superficio de montaje puede soportar la carga sumaria del producto, dispositivo instalado y

todo el equipo adiccional.

Utilize los tornillos que ya esta incluidos junto con el producto y no les aprieten demasiado fuerte durante el montaje e
instalacion.

El producto tiene partes pequefios que pueden ser tragados y causar el asfixia. Guardeselos lejos de los nifios.

El uso incorrecto del producto puede causar lesion personal o la falla del producto.

Antes de instalar la pantalla asegurese que es compatible con el producto. Compruebe el tamafio de montaje

VESA, el diagonal de la pantalla y el peso.

Instalacion de pantalla incompatible puede causar lesion personal o la falla del producto.

IMPORTANTE

Asegurese que ha recibido toda la herramienta necesaria antes de realizar la instalacion. Verifiquese con la lista de
detalles includios. En caso de que falta algun detalle, ppor favor, comuniquese con nuestro atencion al cliente.
GARANTIA

No requiere certificacion obligatoria. El plazo de funcionamiento es ilimitado. GARANTIA DE 5 ANOS.

Cnacubo, 4to Bbi6panu Hac!

Msbi HageeMcA, uTo Bbl 4oBOSIBHBI NOKYMKON. Ecn Bam noHpaBuncA Hall NpoAyKT, NoManyicTa, octaBbTe Ball oT3biIB.
Ecnun y Bac Bo3HWKIM BOMpoCk! MW Kakve-nnbo npobnieMel, To Bel MoXeTe cBA3aTbCA ¢ HamMu B floboe BpeMs, U Mbl Bam
MOMOKeM:

Poccwa: support@onkron.ru/ +78007772176

MonHoCTbIo NpoYUTaNTe AaHHYI0 MHCTPYKLUMIO [0 Havana cbopKu U ycTaHOBKU. Mpy BO3HMKHOBEHWM BOMPOCOB Mo c6opKe v
3KCMyaTaumm NpoAyKTa CBAMMTECH C HALLEN CepBUCHOW CITYMBOM.

BHUMAHUE

Mcnonb3oBaHWe NpoAyKTa € YCTPOMCTBaMU, NPEBbILLAIOWMMI OMYCTUMBIA BEC, MOMET NPUBECTU K HENPaBU/IbHOW ero
paboTe, MOMHOM NOSIOMKe U TpaBMaM Mosib30BaTenNs.

MpoayKT AosnkeH 6biTb cobpaH CornacHo AaHHOW MHCTPYKLUMK. HeBepHan ycTaHOBKa MOXKET NpUHECTU Bpen 340PO0Bbio
nosib3oBaTens.

HeobxoauMo vcrnonb3oBaHve cpeAcTB MHAMBUAYANbHOM 3aLWMTbI U NPaBUIbHBIX MHCTPYMEHTOB.

MpoayKT AoneH 6biTb cobpaH M yCTaHOB/EH MPOdECccUOHAsOM.

Y6eautech, 4to paboyan NoBepxHOCTb CMOCO6HA BblAepKaTb CyMMapHbIii BEC MPOAYKTA, UCMO/b3yeMOro YCTPOMCTBa 1
BCEX [OMOJSTHUTESIbHBIX KOMMOHEHTOB.

Vicnonb3yiiTe Kpenem 13 KoMrneKTa noctasku n HE MEPETAMMBAMTE 1x Bo BpeMs c60PKM, U YCTaHOBKM.

MpoayKT coaepHUT MenKune geTanu, KoTopble MOryT Bbi3BaTb YAYLLEHWE NPU NPOrNaTbiBaHUM.

XpaHuTe Ux B HeOCTYNHOM AJ1A AeTei MecTe.

HeBepHoe 1cnonb3oBaHWe NPoAyKTa MOXKET NPUBECTU K ero NosIOMKe U TpaBMaM.

Mepeq ycTaHOBKOW 3KpaHa ybeauTeck, YTo AaHHaA Mo4esb MoOAAepHMBaAETCH NMPoaYKTOM.

MposepbTe VESA KpenneHue, Bec 3KpaHa 1 ero gnaroHasnb.

YcTaHoBKa HENOAAEpHKMBAEMOr0 3KpaHa MOMET NPUBECTU K NOSIOMKe NPOAYKTa U TpaBMaM.

BAXHO

MEPE[ HavanoM c6opku ybeamteck B TOM, YTO Bbl MOSy4MIn Bce HeobxoamMble Ans c6opku getanu. CBepbTeck CO
crnmckoM. Ecnu getaneit He xBaTaeT Uiy OHU UMelOT AedeKThl, CBAMMUTECH C HaLLEe CepBUCHON CITYHO0M.

FAPAHTUA

He TpebyeT o6A3aTenbHol cepTudmKaumm. Cpok cy6bl He orpaHundeH. TAPAHTUA 5 NIET.



designed to support

Q ONKRON

Bi3pi TaHaaraHbIHbI3Fa paxmeT!

Bi3aiH, eHiMiMi3gi caTbin anfaHbiHpI3Fa KyaHbIWTbICHI3 Aen yMiTTeHeMis. Erep cisre 6i3giH eHiM yHaca, niKipiisai
KanablpybliHbI3Abl 6TIHEMI3.

Erep ci3ge cypaktap HeMece Ke3-KefreH Macesenep TyblHAaca, 6i36eH Ke3-KesreH yakbiTTa 6aitnaHbica anacbis, 6i3 cisre
KOMEKTeCeMis:

Peceit: support@onkron.ru/+78007772176

MoHTaxaayabl *aHe opHaTyAbl 6acTamac BypblH OCbl HYCKAY/bIKTbI TO/bIFbIMEH OKbIMN WbIFbIHbBI3. OHIMAI KypacTbipy KaHe
navaanaHy Typasbl CypaKTapbiHpl3 60/Ca, Kbi3MeT KepceTy 6enimiHe xabapaacbiHbI3.

HA3AP AYAAPbIHbI3

OHIMAi pyKCaT eTiNreH caNMaKTaH acaTblH KYpbINFbIIapMeH naiganany, AypbIC }KYMbIC icTemeyre, TONbIK by3bliyFa KaHe
nainaanaHyLWbIHbIH, }apaKaT anybiHa aKenyi MyMKiH.

OHIMAi ocbl HYCKayNbIKKa CaMKeC KUHay KepekK. [lypbic emec OpHaTy NaiAanaHyLbiHbIH AEHCAY/bIFbIHA 3UAH TUTi3Yi
MYMKiH.

YKeke KopFaHbIC Kypanaapbl MeH AypbIC Kypan-caiMaHAapabl nainaanaHy ete KaxKeT. OHIMA[ Kacibn mamaH uHan,
OpHaTybl Kepek.

KyMbic 6eTi OHIMHIH, KONAAHBINATbIH KYPbINFbIHbIH, }XOHE Ke3-Ke/reH KOCbIMLLIA KOMMOHEHTTEPAiH, }KUbIHTbIK CAaJIMafbIH
KeTepe anaTblHAbIFbIHA KO3 MeTKI3iHi3.

BepinreH }ababIKTbl NaiaanaHblHpI3, KypacTbipy }KaHe opHaTy KesiHae onapfa TAPTY KYLUIH ACbIPAMAHbI3.

Byn eHiMae KyTbINFaH Ke3ae TYHLUbIFyFa 9KeneTiH ycak benwektep 6ap. Onapabl 6ananapapbiH, KObl KeTNenTiH Kepae
CaKTaHpI3.

OHiMAi gypbic KongaHbay 3aKbIMAAHYFA KOHE XKapaKaTKa aKeNyi MyMKiH.

JKpaHAabl opHaTNac 6ypbiH, MOAENbre BHIM COMKEC KeneTiHiHe Ke3 eTKi3iHi3. VESA KOHAbIPFbICbIH, 3KPaH CaAMafbiH
YKOHE 3KpaH AMAroHaniH TEKCEPIHi3.

Caiikec KeNMeWTiH 3KpaHAbl OpHATY OHIMHIH BY3blNybIHA KaHE a4aM sKapaKaTblHA aKeYi MYMKIH.

MAHbI3AbI

KypacTbipyabl 6actamac 6ypbliH, XuUHayFa KaxKeTTi 6apniblk 6enwekTepai anfaHblHpI3Fa Ke3 }eTKi3iHi3. Tizimai TekcepiHis.

Erep 6enwekTep eTicnece Hemece akaynbl 6onca, 6i3aiH Kbi3MeT kepceTy benimiHe xabapnacbiHpi3.
KENINAIK

MiHaeTTi cepTuduKaTTayabl KaxKeT eTneiai. KbiameT ety mepsimi wekcis. KEMIAIK 5 ¥Kbl/.

220726
@) onkron.com



